Review of Becker’s Analysis so far
1.  How are Humans similar to other animals?

2.  How are Humans different from other animals?

HOW DID WE GET BIG BRAINS?
1. A taste for meat
2. group living in close quarters
3. a need for sexual regulation
Consequences of having a big brain?
1. FREEDOM OF REACTIVITY
There are at least four levels of freedom from reactivity…

a.  Reflex:  
b. Classical conditioning 

c. Insightful problem solving:  
d. Thinking with arbitrary symbols--- symbolic thought & temporal thought.  
2. INFANTILIZATION
There are two ways that creatures survive….
1) instinctual programming, or 2) learning

Low Mental Complexity

High Mental Complexity 
--lots of instincts


--fewer instincts

--less learning



--more learning
--less care needed


--more care needed at birth
